Question: 1

ST 2454 gl 215 ugEl-l andl 128 kgm 3
9. 519 ALH 25U Ugld & svul deusd-l 25y
25 cm 2idl €Al 25 50 g €I, dl uei-l
Bridlie, Yo 4l :

(1) 40
(2) 410
(3) 640
@ 16
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Question: 2

o oig5l A 214 B 2 s32 1km/s 2 2km/s
Al 235y ol atelAl sl 2t S, wfEider AgiL
519 215 [c4gall s wedley [Eum 20t sl
B 8. 2AL AUTAL 9L 2ALAR 1AL Mty (SRl
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a4y 1:2
2 1:16
B) 1:8
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Question: 3
a olloy Al adl, s4s (MuEl) ABOD i
Seg 201002 $65 BEFO il &g Yol (2uglani
galledl 2iuR) BRA wlEL ¢l

2
B] B
A H a
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Question: 4

215 100 m Gl 51+l 2124 w2 %l 0.03 kg &0
UL 25 ASSIAL 2540 Yol SRl A B,
2L o7 4HA, 0.02 kg £ aiadl 2ol (sRqy) -
sl w2l GlecdlEaumi Gluz d25 100 ms ! -l
oL ol lsaMl 2ud 8. Uil Qs sAsls st
8, dl 2L 2yscl Al WE wsell Al 52 d wdal
Wil 2l Gluz ueRa Hedu GlRud 2al:

(g=10ms~?)
(1) 40m
(2) 30m
(3) 20m
(4) 10m
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Question: 5

15[ £LledL Yoret, 215 m EN BRIA AlUG 5
of arll Rz RRAMI] 2210 UL g/2 @l Gluz-l
[Gotie ol 213 52 oM VA 8.t UHAUL dol
UeHlElet (normal reaction) gl3l Ad, s

m Ta:%_

(L2 )
(1) 3m gzt2
8
2.2
mg-t
2 *
(2) g
2,2
mg-t
3
B =
@ 0
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Question: 6

R o2dl Blsdl 214 M 01 4218l 215 1Hipll a
AousiEly 2AazA 2is Bz 2 w2 w8 v
F Al veeadl viteusi 204 8. 2042 1254l Bax
NS B dH URAL ANUSRAL 51901 ML ¢l
" " 2F
(1) 3mR
3F

@ 7.R

m 3

®) ImR

2
mo3
=3

#) 2mR
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Question: 7

oMy uls 530l Ul Helld 245 R Fsedel
aduusiz ddint 12 dzs F s2q §4 o @oud ©
Wi Al Arfl 2481 52 220 510(1M 24l sl
SUA 8. od A F 2 Wlcl U2 1A {ld adaidl
S, 2 Uldtl ol gzl arells ¢
ol et W 42l glRL At 25 el :

(1) WFR/6
() WFR/3
() WFR/2
@ ZuFR

'%
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Question: 8

w5 Guue v ovzdl s 25l 25 aduusi
sl Y2elldl 53 HEL 5% B, 215 m £ BRI
e Guus wzedl 2l <ld Ssaudi »ud 8 %
sl el a3ceuseAL Vel Hsd 2.
ELRIAL Yoot s3etteAl HUHA drdl I1cllGled 2l

-
—mun
@ 3
(2) mo?
-
; —m?uv
G 3
(4) 2mo?
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Question: 9

well wuwe qoily aiadl 208 (el eisla
1074 m3/s L 228l ad 8. Gwid, avilami
1 em? &5 gziddl [Bouizdl «dl ((@s) sau .

ot 21511 wellHl Glzug 2ian svnciidl S Al 21
Glaud 3l :

(1) 51cm
(2) 4cm

3) 29cm
4) 1.7cm
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Question: 10

A9 stz vl Al T, v 2da G
Wl 22 i T, driid 2ée G sradl
22 50 53 & (2A15(d ogil). cul oflst A Gl
HULESL S o Ty 2 Tyt 2uglaui saieu
Yor WA B AT, >T,>T,>T, 8. A
ifraret @5 A1 Al s14EL 21 o

Ty

Ty
O E2

T3
O €3

Ty

® T - () - ()

@ ITz - (T?T4]%: T, = (T»ITE)%
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Question: 11

T=10% K ciyuid 2¢d 215 Gy wldd oflsa
T=10% K ciqHin 2¢dl GvaL 2au1¢s 4l 1 m
oSl SIMRAL ALAAL 43 odseiHL 2L 8. sluz-l
Glwa{ld clssdl 0.1 WK~ Im~1 ¢l dl Roud
i auiell vz ud Gled sesi el -

(1) 90 Wm 2

(2) 120 Wm~2
(3) 65 Wm~2
(4) 200 Wm 2
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Question: 12

215 1 m ded-l 24 5 g g0 addl gi=lA o
9% ol ordld $3d . izl deud 8.0 N 8.
g4 215 100 Hz 2ugfa a2l il $u-
(elas)l ueedl SR sAgaml 2ud . il
uzL 5B (e (g2l 922l 2R

Al A5 el

(1) 10.0cm
(2) 16.6cm
(3) 20.0cm
4) 333cm
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Question: 13

wis 2 Vs RAR wdsASR 425 34 m/s -l
#uedl ald 52 8. 24 {2l @wud 8 21 adl
wgrl w5k gRU foredl AlM 8. ¢ o
2l 284 42l 17 m/s sveedl A R el
2 f, 8. o Ll 254 340 m/s €A dl

ﬂ@ﬁﬂ? f—I el
f

(1) 18/17
(2) 21/20
(3) 20/19
4) 19/18
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Question: 14
s Uiz ‘e suldexd  gasa
6 cm? 24 12| C{U):i w{d2 3 mm ©. K, =10,
K,=12, K;=14 szdl Wwielgdis (s1ddlsgs
DUS) YRACAL 2 HHIA 84518 SR ICAL PAlSS
g1l HEgel ol velzl dRRlAL I HReHL 2
O (2usld sy»il). sk wengsd el ol
SU[H2241 E1Ue SR AL @i od A SUlr2
(HelRsdl) MO dl vgiHL SlealEes prnis ¢l

.
Ky | Ky | Ky 3mm
1) 36

2) 12

3) 4

4) 14
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Question: 15
o [yt gyl A 244 B AL [gggell 2usmi 24453

-3 M — A
dy=—4qai ¥ dg=—2qai , 2 d¥-il
22 22 R 8. il 25(dui g2ulet ysrot x-
2l (Bl 45d 8.

— |

A B
Bacll A @l § R et gRRL Gy RAldA
HUIA U o 2R €2l

» X

w2
S
V2R
@ B+
R
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R
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Question: 16

[Getiz Q AL a, b, ¢ (a < b < ¢) Berdl a1l
(g ol sel wr 2id] 2ld aduanil 2udd
8 5 o2l el Y [Bgaeiz addl 2is oils
or2cll A AL AL WAL Sl ¢ AR
2edl (G, sadl r < a, 2210 gd Rl ¢l

Q ab+ bc+ ca
D 127e abc

Q(a+ b+ ¢)
) 4'1TE{](:’:12+ b2+ 2)

Q
) 4megla+ b+ o)

Q (a2 + b2 + 2)
@) 4Tre;}(a3 + b2+ )

ROUGH WORK


Kakadiya
Rectangle


Question: 17

25 18 O -l 2A9R1M G314l 215 HHIH dlcell
iz Aol 245 wuetlsy BsleL crtlgarsl 2
8. d Bsor siguel o RrUICE=L @22l
HUA 2RI €2

() 20
2 120
3) 40
4 80
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Question: 18

2yl WA, [ydsiin g widks weRia
8. §ARIAL R, 2 R, Hitdl ddll uas (AR
), 2rsd 62l :

R; 3200 R,;S200Q

=
10V 10V

(1) 05,0

2 1,2

@B) 22

@ 0,1
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Question: 19

2 cm iyl dettd BRIl 25 AR il U,
Ut y- (B2 6 m/s svzdl 2R 2sugdl a1ld 52
8. a4 z- [l 01 T Headl sridq 215
Al osl g wad . - s dot adl
ttedl O ol oyl 22l AL dstad €2l
1) 1mV

2) 6mV
3) 12mV
4) 2mV
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Question: 20

D s WA | dotdrl doflan vz p(x) = pu%

sredll 2uily [Borei Al 8. Go (G (x=0)
Higll yaz adl i uollan det vign 2
A wRoel szl 204 8. sd wolldl n
WRermeL uld As-s s2el €M dl Hollal W2 4
HRARL A5l 2415 WAL €2

1) npB
2) %np!a
(B) wnplP
m 3
“npl
i e
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Question: 21

A =
1027 A-m? s/2ell §a el 53 dsAL
s Aoisd WAH WA AsAldl Yusld HA

Bi(coswt), sl B=1 244l ¥ 0=0.125
rad/s, Ml Y5 209 ©. t=1 s~ Yeisl
254 [F ezl MR 539 usd sid

(1) 0.014]

(2) 0.007]
3) 0.01]
(4) 0.028]

ROUGH WORK



Question: 22

ol WHAd [Agaeisld dami sty &

B=100 x 107 sin {2-“- X 2 X 1015(1: - i)]
C

Yoror 2L AsAL ol -l WA AsEd Hedn
[Cgyas :

(il 264 =3x108 m/s )

(1) 4x10*N/C

2) 6x104N/C

3) 3x10*N/C

4) 45x10*N/C

ROUGH WORK
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Question: 23

iy ov2el csloeinis 24 f; oredl v doud b1l
25 wudd-oi&lin (plano convex) A, Mery
026l cslotrls »in f, ovedl Srg dond uriddl
oflo UHAA-ictllon (plano concave) @il
HUSHL sl 20 8. od d gxsHl oldld
AUl sl Bsedl R € 211 f; =2f, €1,

dl py 2, A 2Aso{leaidl
HsoudAL ©.

1) wytp,=3

(2)  2pp—py=1

(B)  2p—py=1

(4) 3p,—2u,=1

ROUGH WORK
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Question: 24

0.1 mm 6/2¢ RH2L s422le iR QRIAdL 4L see
Rzl WAL 52 Ny AR2LEALES HR1AAL U512l

. 1
Gualol sReul 2ue 8§ 4R 20 Tad U 519l

HSURAA A5 oAl HA B, 8RR N, dR2IdAS
B1A Al US12LAL GUHIL ST 2419 8 IR 21l o
sl Hie UsRIA 2AALSL 21 o7 5181 210 1YL
B, ol d22Lded N\, i N, DL §R4 UsL2L [Eoudt
(380 nm &l 740 nm Y#l) ol 3l Y €2 :
(1) 380 nm, 525 nm
(2) 625 nm, 500 nm
(3) 380 nm, 500 nm
(4) 400 nm, 500 nm
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Question: 25

a2l HsRsll Aol wusid [Eete 2 dul
QuRLdl 9asgi--dl dfodend-l su- du 9.
7.5x10 12 m Al uclous g2l wsa (2l sdei)

gasgl--l ov3dl ayau Glad Al
1995l al.

(1) 1keV

(2) 25keV

(3) 500 keV

(4) 100 keV
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Question: 26
4[5 51622 (21015) Al Hegell 2is Azl 252
Georvaiall Geaddl $0IHL €2 MM 2ue ©.
t=0 ¥¥d d 1600 5162 ulad s~y 244
t=8 Hs~3 o 100 516-2 uld As~s ¢dl. t=6
Ased sl ula A5~ (sLadldl) €2
Al A5 Sl

(1) 150
(2) 200
(3) 360
(4) 400
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Question: 27
24 dllors 312 uRu™ W2, R 21 ‘17 3ol d

U2 9Y2 YA sAD2 /.
=
P R
Y ——
s Q
C o )"_
(1) X=0,Y=0
@ X=0Y=1
B) X=1,Y=0
@4 X=1Y=1

ROUGH WORK
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Question: 28

w5 Zldl gl-udlan (uairel) 2zl Glud
140 m -4 RRAERL (ugwt) 22l Glug 40
m 8. dl 2 2R W YUl gle-2ul (Line of
Sight) 2Rl s2al HerH iR Yol Reman
wllkd 531 2s? (yeedlAl Blsea =6.4x 106
m 24 8.)

(1) 40km
(2) 80km
3) 65km
4) 48km
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Question: 29

L dotgel 24 12 r -l 2Rl d1ddl 218
ierr(lflz R AB @i £ /24 emf 24 ¢
o72dll RS BIURIE Y1AAL SN D UL sAsAHL
A9 O, g/2 w2q emf 24 3r /2dl 2dRs
2RAY, B0l 51 C A 2l guied Yore
sdsell ] 21 8. SleaAH2Rl guliad] 2t 2l

Y-l doyd AJ 2l
D gr
*] =
|[
As ) B
_|_ Ay
-G
£
-2-’31”
93
=
O
5, 2
@ 1
41
sl
)
5 B
@ 15
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Question: 30

245 2 W AL 5104 249208 W2 2453 dla, s,
Al 2 GG (s2018) 1L 90l AUsd B, 21
iezlaHil w521 ALl HedH Ml

(1) 04mA
2) 20mA
3) 63mA
(4) 100 mA
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Q-1: | Q-2 | Q-3: | Q-4 | Q-5: | Q-6: | Q-7: | Q-8 | Q-9: | Q-10:
1 2 3 1 1 1 4 2 1 3
Q-11: |Q-12: | Q-13: | Q-14: | Q-15: | Q-16: | Q-17: | Q-18: | Q-19: | Q-20:
1 3 4 2 1 2 3 1 3 4
Q-21: | Q-22: | Q-23: | Q-24: |Q-25: | Q-26: | Q-27: | Q-28: | Q-29: | Q-30:

3 3 2 2 2 3 3 1 2

ROUGH WORK




Question: 31

AlbAL Ul Hadl Al ‘P A R ciarel
A,

Asn—Ser +(CH3CO),0 NEty P
(48 \sll)

OCOCH,
O

O H O
N
8 Ay -
C H
O

NH,

@
NH
(2)  H,C N 3 \ﬁ\ou

OCOCH,4

OCOCH,
Q H O
.. 5 N
H,C OH
@ H O NHCOCH,

O

)?\ /C:HJHCDCH:! o
H
4 =nc N N \i\GH
‘ H © OCOCH,
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Question: 32

Al 2l Al wadl Y Alwer 58 €2l?

NH,  NaNoO,
Ag. HCl, 0-5°C

(] ) CD/NOZ
2) @’OH

(3)

:

NO,

OH

44

(4)

ROUGH WORK



Question: 33
A2l 2l 22z ol2s sylAetisr- s34l M2
Yol MNellAl Geazalsyi U8l

Cl Q—CO{)CZHs

OzNOCOOCZ}-l :

11

CH,0 QCDDCZHS

AY
1) M>I>IV>I
2) N>M>I>1V
@) M>O>1>IV
(4) IV>I>II>I

ROUGH WORK
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Question: 34

sl slastellsudls 2R [Rordlsagl 2seedl
SlorHl 2AASIDNS Gtrldal HI2 2AlIHL 24

e EIREN,
Py
CH, ¢ ~on
(1) CH 2% o fOH
Il
O
COOH
o I
COOH
CH, .

CHE COOH
® | COOH
CHy

CH,
'|""'I' COZH
(4)
YOO,H
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Question: 35
AL Ml el o Aluer X 214,

O

O Il
CH, - C —OCH,4
- NaBH,
MeOH

CH,-C~-H

(1)

CH,CH,OH

(3)

CH,CH,OH
(4)

Oy
iEr
of
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Question: 36

Al2 2udl el pKa yeusdl 2zdl sy
2L

H OH H OH
é é éwoz é
NO, OMe
A B C D

(1) D<A<C<B
(2) B<C<A<D
3) C<B<A<D
4 B<C<D<A

ROUGH WORK


Kakadiya
Rectangle


Question: 37
A2l 3 el Yo ey 59 7

CH,0
CH,CI
(i) [oiellx AICl

u) H,O

(1) CHS‘:’@

OCH,4

CH,0
% @

CH;0

CH,

ROUGH WORK
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Question: 38
usi2t-l ¢lorzll Hdsr- (E) Hidl ez w4
Rl sdl @dGlort el [raufia 221?

CH§—C
0

(1)
(2)
(3)
(4)

(E)
a - €l9glsr-
B - €lBglor-
v - Slgler-
3 - QlBgler=

y B

ROUGH WORK
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Question: 39

AL 352l e Alusy 587

Br

KOH alc (48 4cll)
ﬁ >

Ph

g

Ph

(2) o

(3)
Ph

LS

Ph

ROUGH WORK
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Question: 40

of SsARIMlAA (DCM) 24 well (H,0)Al
GualaL [Ase (el (differential extraction)™i
seeltl 20 dl, I U5l sy 25 (e iy
5

(1) [CasiEl aacdlui DCM 24 H O o 3R

wirsi Gluz 2 I3 28l

(2) (sl ae@dlil DCM 241 H,O o 3R
wirfsi Al 244 Glur 284,

3) DCM 2114 H,0 - (B9 sélyy/sladl
o2,

(4) DCM @i H,0 #yel Bewelld 2edl.

ROUGH WORK
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Question: 41

DAl Fgeopeid sl 2 87
(1) [([Qellam

(2) slodH
(3) “Aklauy
(4) Rl
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Question: 42

Sla-galez sy Rl 53 69
(1) Cu?*(aq)+H,(g)—Cu(s)+2H* (aq)
(2) 2ALO,+3C—4Al+3CO,

(3) ZnO+C_ Cokel673K _ 7n+CO
(4) Cr,0,+2 Al>ALO,+2Cr

ROUGH WORK
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Question: 43

€188lor ULSHIBSAL UG5 2o 4l ©7

(1) =iRls weppu wusdlde sdl, wiq Abs
WL A<

2)  Abs wermn Assunsdl, wiq ARks
wielL Al

3) 2RSls weaHal @M UA sdl @A
Reseirtsdl wid Als e Al

) =ilalss 24 olzs o4 wEayul
i[85l 2 ResuAsl

ROUGH WORK
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Question: 44
EglorL §@ UHRAASL 24 AL Brelleaell
AHRAUASL 24 ©
(1) 21
2) 321
(3) 2240
(4) 32
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Question: 45
#- (5201 Anrl ozl eraemi auridl dig 567

(1) Mg
(2) 'Ca
(3) Na
(4) Be
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Question: 46
XeOF, i Xe - %5391 21 2515l 9dsgi YU
(3o4L) Al vl 2ieqs
(1) sp3d =11
(2) sp3d@idi2
3) sp3d?=ii1
(4) sp3dZ 2

ROUGH WORK
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Question: 47
Arell9s deelldl Sl ArtiADs {siuA 24zl
Yzl oL AL 24 UL 87

(1) uzHUes 2t 2l Bsa el s21ol,

(2)  udHEHd Bleami qaRl 2iH 2
Blecui w2isl.

() WMl Blecuul gzl 24 2uu-l
Blsaunl «azl.

4) I 2 Ul Bedl ot szl

ROUGH WORK
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Question: 48
(Al Gelus Al-umizll 54l 87
(1)  [(Ph3P);RhCl]  (Et=C,Hs)
(2)  [(Et;P)3RhCl]
(3)  [(PhyP)5IrCl]
4)  [(Et;P)5IrCl]
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Question: 49

2§4dl [M(F)(C1)(SCN)(NO,)] Auddlx
HHRlRH Hslel 5 SedL uuaesl 87
1) 4

2) 8
3) 12
4) 16
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Question: 50

o el A 2 B Al well okg 8. el
sy A[01s 2Al[5Her o3l (BOD) [(ud
2rAsd 10 24120 8. W [Aeuq 204l 7

(1) B2 A s3cl 94 ugMd 8.

(2) A @B szl 44 ugMid 8,

3) A ldL U 8, el B Al
4) A 2 B ot e 4l 9.
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Question: 51

100 m mol Ca(OH), i 2 g [543 uche
Ges 531, wellal 2ioudll vAdl glae s&
100 mL Yl @9 sval 20y, GIAQAL el
Slear ueked g 2 wlzewdl gl OH -l
Higell 2453 2] €al?

(Ca(OH),, Na,SO, @i CaSO, Al »i[ee £uil
253 74, 143 @4 136 g mol ~ ! &, Ca(OH),
Al gleuett AYRUSR K, =5.5%1079).

(1) 136g 028 mol L1

(2) 19g 014mol L~}

(3) 13.6g 0.14mol L1
4) 19g 0.28mol L~

ROUGH WORK


Kakadiya
Rectangle


Question: 52
syl 2AUEH 205Y SIMHL 2 Yz el
(a#b=c) it well 2l vl 90° &l [
RO Y
(1) 2zpl-d
(2) ésBPlAd
3) i-lals
4) sbals
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Question: 53

Al Al 54l 2uEw 2l usi 2
il 200l il Grawin e desgin Rl
it Ealiael -4l 7

s Al

0 usiairll Glsd

. — sl dlseu

—— SR 2

@l
@) Hw ]

—— Ul St

ROUGH WORK
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Question: 54

Allnizdl s A WS i 2isal dlmu Yl
wdl 87

1) O,
2 N,
3) O,
4 N,
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Question: 55

w5 Ulsulul AH=200 Jmol~! =i
AS=40K Tmol 18, 2 wuidl Budl sl
519 2L 2l AL YE 53 5 oreill Gluz

L 2etief 2217
(1) 12K

(2) 5K

(3) 20K

(4) 4K
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Question: 56

neltél A 2t B AL [Baue Aell- 2idiorl 2uge
SAGL AL 8. 350 K A g A i g
B el GISUESALEL 4453 7 % 103 Pa 24 12 % 10°
Pa 8. oA @il cttysird deldl A L 40 Hla 25l
414 GLA0L AuRIE A (A 2eRUML €Y, dl
oy ofeiRel 2l ?

(1) x,=0.76;x5=0.24

(2) x,=04;x3=0.6

(3) x,=037;x3=0.63

4) x,=028;x5=072
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Question: 57

300 K 24 {8l sz K, /K, Al Buell 253
2uAl 7

(300 K %, RT =24.62 dm®tm mol 1)
N, (g) + O, (g) = 2 NO(g)

N7Oy4(g) = 2 NO,(g)

N»(g) + 3 Ha(g) = 2 NH3(g)
(1) 1,24.62 dm’atm mol ~ 1,
606.0 dm®atm? mol ~2

(2) 24.62 dm*atm mol ~ !,

606.0 dmPatm? mol ~2,

1.65 % 10~ 3 dm ™~ %atm ~2 mol?
(3) 1,24.62 dm®atm mol ~ !,

1.65 % 10~ 3 dm —®atm —2 mol?
4) 1,41x1072dm *atm~ ! mol,

606 dmPatm? mol 2

ROUGH WORK


Kakadiya
Rectangle


Question: 58

ALl Flos2ir Mlbtin Ll dl
Zn** 4+2e~— Zn(s); E°= -0.76 V
Ca2* +2e~— Ca(s); E°= —287V
Mg?* +2e~— Mg(s); E®= —236 V
Ni?* +2e~— Ni(s); E°= —0.25 V
il Rostuesdl ulsadl 2adl 53 :
(1) Ca<Zn<Mg<Ni

2) Ca<Mg<Zn< Ni

3) Ni<Zn<Mg<Ca

4 Zn<Mg<Ni<Ca

ROUGH WORK
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Question: 59
2 (AL U520 2t43(A 51T 245 WAL
2y il 12 26l 8 (0°C < T < 300°C)
(k 2 E, 2453 U521 o1 24 25125201 ulsa

=,

©.)

F s F 3

N_ |

Ea : T(°C)
I 11

w2l [Qsey 2l

(1) T2 IT vl 3120 9,
(2) T2 II el vii2L 8.
(3) TRl ® wel I vl

3)
(4) Tl © veLIT HeRl 9.

ROUGH WORK
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Question: 60
Al2i-uizdl 56 Emisll Celusle ulsu Gazal
217
(1) otz ua
(2) slauid ge
3) ariuld dad egler-lszal
4)  Heucsl ulu

ROUGH WORK
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Answer :

Q-31:|1Q-32: | Q-33: | Q-34: | Q-35: | Q-36: | Q-37: | Q-38: | Q-39: | Q-40:
2 3 3 3 2 3 3 2 2
Q-41: | Q-42: | Q-43: | Q-44: | Q-45: | Q-46: | Q-47: | Q-48: | Q-49: | Q-50:
3 2 4 2 4 3 1 1 3 1
Q-51: | Q-52: | Q-53: | Q-54: | Q-55: | Q-56: | Q-57: | Q-58: | Q-59: | Q-60:
4 4 3 4 2 4 3 3 1 2

ROUGH WORK



Question: 61

140 (et 25 «eil Qa4 1 4l 140
S5 2UAL S, El o 3 sl (el
afBict Fret wie 53 8. ol suis 3 <48 [Qoust
i datl el elildsura [y qzu sl
$3i5 543 [Qous S deu Bz ez
[ waie 52 9. dl 20 erl 519 v B
Y4E o 54l Sl el [CenelfAail 2va

-

O.
@H 1
@ 102

3)
4)

5 &

ROUGH WORK
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Question: 62

YRl 5z, 2 z, 2 510 2l A YAR AR
Wyl 8 5 o2l 3|z, | =4|z,| AL o
B oy s
z="21 1222 gy Al

22.2 321

(1) Im(z)=0
2) Re(z)=0

©G) lzl=35y75

@ lzl=y3

ROUGH WORK



Question: 63

(geuct 2315391 (c = 5)x2 = 2cx + (c—4) =0,c#5
Al (22 521 4iRLE S wic Al wiel yeauls Eudi-l
AL 8 % o2l wlszew 25 oller (0, 2) #idriami
w19 @l e ofley olley (2, 3) widueni 24,

Sl uesldl v 8,
1) 18
2 12
3) 11
@) 10

ROUGH WORK
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Questlon 64

4L 5 deR 211
~9  d4d (sin®)—2
A=l 1 (sin)+2 d

5 (2sin@)—d (—sin®)+2+2d|

0€[0, 27). s det(A) Al ~4ricty Budt 8 €, dl
d -l 518 =15 Bud 8.
(1) -5

@ 2(v2+2)
@) -7
@ 2(v2+1)

ROUGH WORK
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Question: 65
o alszel 24l

x+y+z=5
x+2y+3z=9
x+3y+az=p

A 2ieict Ghl €M, dl B — o IR

M 5

2 18

3 8

4 21

ROUGH WORK
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Que_stion: 66

3
5 20 Eﬂcz'—": _k "
;' 21 dl k Y3142

] 3“-::,- +20C i=1
8.
(1) 50
2) 100
(3) 200
(4) 400

ROUGH WORK


Kakadiya
Rectangle


Question: 67

\5 -
(121827 )" et Gl Recteir Aoy e et
2560 €1, cl x «Al 516 D45 254 Bt

9.
1
M 3
1
@ 7
3) 242
4) 42

ROUGH WORK
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Question: 68

a5, 51, 512 4 518 @45 Bstei-l clsyil-l dendil
G, dlral Al ek,

(1)
(2)

3)

N e W N W

(4)

ROUGH WORK
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Question: 69

sedlz 7 4d ol 2y aZlE 2 2an 5 v il
of wisiAlvll M 44 AL 1zl

(1)
(2)
3)
4)

1465
1256
1356
1365

AL

ROUGH WORK
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Question: 70

-

U5 teR 2, ARL S [t] 2t ol Al 212l t

p,

WA M yelsial el Hiel yels ©. dl

(1—|x|+sin[l—x]) sin [3[1—x]]
Iim 2 ;
x—1+ |1—x| [1—x]

(1)  “RIeR 0
(2)  CRIR 1

(3) eRIz —1

4) o 21l -2l

ROUGH WORK
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Question: 71

max{|x|, %), |x|=2
8-2 |x|, 2<|x|=4
UL S S o (— 4, 4) LicRiAH] wuslL 2 [Gguilel
A B 5 sl f[RAsa-lld 2l LS

(1)  wdl 2w 8

) “RI“R (-2 -1,1,2)

(B) “ReR (-2, -1,0,1,2)

4)  “RUR (-2, 2)

Yzl 3 f(x]={

ROUGH WORK
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Question: 72

Q1 5 f: RoR 215 29 (G4 © 3 o2l
f@) = B+22f (1) +2f ") +f"""(3), xR dl
f(2) “RieR

1 -4

@ 30

G 8

@ -2

ROUGH WORK
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Question: 73

g [% UJ 2 a5 y=vJx, (x>0) 23

Yedd 2R .

(1)
()

3)

o N W ”|ﬁ.ﬂ N‘ﬁﬂ

(4)

ROUGH WORK
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Question: 74

4RLS n=>2 215 Wglds Hval © v 0<0<rr/2
| 1

dl j(sin“ﬂ ~sin0)™ cosd b 3104
sin™1p
Y.
(sl C 21 3{sarAl 21915 ©.)

]
n 1 n
| - 1 ] +C
1) 112*1[ sin™ 19
L]
(2) 211 [1_ 1_] ] n +C
n“+1 sin" 0
L
n 1 n
3 1- +C
G) nz—l[ sin"HB]
n¥l
n 1 n
4 1+ } +C
@) nE-I[ sin™ 19

ROUGH WORK
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Question: 75

A} 1= -2%)dr . a1 it Gt ol
5345t ods (a, b) @ 8.
1 ©2)

@ (2,0

3) (-v2,V2)

@)  (2,-2)

ROUGH WORK
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Question: 76

ol sl y=ki2 2 x=ky? (k>0) 423 S84
ME HAs0l 1 Ak wisd ¢, dl k ®

(1)

Sl & &~

B

2

.

ROUGH WORK
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Question: 77

d 3 1 -
‘ad:l:"' 2 y= 2 ,IE[-—.E, E] :u'l.":l

cos X cos X 3 3

IFE){% ' rﬁ.y[-%J GRICR :

4
& - 3
@ 3+
@ 5+
1
@ 3

ROUGH WORK
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Question: 78

ol YL 3x + 4y — 24 = 0 2L x-248 [Gig A 21010
8% ud Y24 (G5 B 2o 98, dl [siel
OAB « %id:srg, sl O % Galeg ®,

B.
1) &3)
(2) (22
G (G4
4) @49

ROUGH WORK
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Question: 79

518 25 (G P2 2w 2 — 3y +4 =0 2 2l 52
8. e Q(L, 4) ¥+ R(3, —2) = Rz [Cgil
€4, dl APQR Al ¥eusegel [Ggua =i

(1) x-248 HHieR YA 8
(2)  y-utae HHIR LS

3) % gl 2w 8

3 -
@ 3 AT (RS

ROUGH WORK
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Question: 80

o [C1g (4, 0) gl R ad 215 4da C 21 ada
2+ +ax—6y=12 4 [g (1, —1) 2w
Rl 248l dl C -l Bisedt 2L,
1) 57

2 4

B 245
@ 5

ROUGH WORK
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Question: 81

ol WAl 2 =4b(x —c) i y2=8ax A 5
o, @G €l dl AR U5 5, s
A4 (a, b, ) el did wsll 87

o (329

2 (1L13)
3 (L10)

(4) ( % 2, 3}

ROUGH WORK
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Question: 82

wlaae 4x2-5y2=20 l, 3l x—y=2
UHIAR M il 215 242lse wedlsel

8.

(1) x-y+1=0

2 x-y+7=0

3) x-y-3=0

4 x-y+9=0

ROUGH WORK
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Question: 83

(G5 (4,-1, 2) wizll v ad du =il

x4+2_y-2_z41 _x-2 y-3 z-4

3 -1 2 1 n 3
A HHIAR ¢ dY WHad [Ciguial
YL YHIR A 8.

M @OL1I)
2 @L-1)

3 (-1, -1, -1
4 (-L-11)

ROUGH WORK
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Question: 84
qiRl s [Gg A 21 3w

—F

Tt M o M
r=(1-3u)i+(n—1) j+(2+5p)k R¥U4GD
2 B(3, 2, 6) 21 udsleiiid @5 (G ©. dl

o = ™ +
AUEW AB 2 UHAd x —4y+3z=1 o HUIR

UM d Hieddl p Al Bua 8.
i
M 3
1
o —
q
G 3
1
@ 3

ROUGH WORK
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Question: 85
4l 3 a=2i+A, j+3k,

M

M M
b=4i+(3-)\,) j+6k it
C=31+6 j+H(Aa—T)k Shett 421 el B3 )

» =)

b=2a 24 a ¥ ¢ 4 4o WX, dl
(Ap Ay, Ag) <Al 245 2s Ba 8.

(1) (-—;-,4, 0)

2 @1,51)
3) (L31)

(4) (%4 -2]

ROUGH WORK
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Question: 86

Wi pedisdldl Heds 5 8 i duild [Buze
9.20 8. oA 2ANA Wi 2SRl AL HedlsHAL
1,3 @i 8 €, dl ofled A viadlsldl s1E s
SITEARE! AL,

(1) 10:3

2) 4:9

(3) 5:8

4 6:7

ROUGH WORK
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Question: 87

w5 Hidld R Goornenul »ud 8, ke
B 20 dl HHAlA UL 245 s ot
2 B i ddAL M2 MO 2i5IHL HrelA
Al 2 9, ot Rssia Goindi sizl 4o dl
vl dd Albai 1, 2, 3, ..., 9 »istel »ika Ao
rtidl alsdluigl =i ud weless {dd vie
9 B B o Ul Yzl 205 ARl 2ud 8. dl
Al 2Ad 215 7 26l 8 €M del Mol

8.
19
(1) 3%
19
(2 =
15
(3) 7
13
@ 3

ROUGH WORK
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Question: 88

R e ™
sin2 20 +c05429=% A Heludl HE(U: E] Al
dHid Budidl 24zl I,

1 =
g X
(2) 5
-
(3) 1
5 o
(4) 3

ROUGH WORK
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Question: 89

AB=7m, BC=5m il CA =6 m “lsylss}
w5 Bslousiz We ABC [zl AC L weulog
D 21l »is Rizldet adz-dl aimdl B 2u01a
30° Al Wl 22 8. it cde-l Aol Glzud

(lleawl) 8.
(1) %Jz_l

2 743

3 2v21

@ v

ROUGH WORK
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Question: 90

[Eau

“P(n) : n2—n + 41 2i[&Aoiscd 8.” Al [0z 531,
dl Al Wl 54 ued 87

(1)  P(3) it P(5) virl 244 8.

(2) P(3) #cd 8, YeL P(5) ded 9.

(3) P(5) #ixcd & WL P(3) Hcd 8.

(4) P(3) 21 P(5) vid Hcd 9.

ROUGH WORK
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Answer :

Q-61:|Q-62: | Q-63: | Q-64: | Q-65: | Q-66: | Q-67: | Q-68: | Q-69: | Q-70:

Q-71. | Q-72: 1 Q-73: | Q-74: | Q-75:|Q-76: | Q-77: | Q-78: | Q-79: | Q-80:

Q-81: | Q-82: | Q-83 | Q-84 | Q-85 |Q-86: | Q-87: | Q-88: | Q-89: | Q-90:

ROUGH WORK





